Spring Test 6

Name ............................................................ CIass ................................. Date ...............................
1 [112= 2 | 4x =32
3|01+ = 4 + 100 = 40
S |6=24+ 6 | 6682 8=
3

7 =64 8 |50-30= =2
=) = 10% of 200 10| 5-=5-

. _ 3 1 _
"M |25-7-2= 12|55 x5 =
13 (0012 %10 = 14| 5 of 70 =
15 =$—% 162|387
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Spring Test 6 (continued)

17 | 5000 — 2145 = 18 | 47 +2628 + 15834 =

19 = 3960 + 8 20| 273485 — 89916 =

218214 = X 3 2241674

U U

23| 15% of 480 = 24 ~3=784

U U

25 | 1293 = 7000 — 26|23/ 6187 2 marks)
2427
(2 marks)
27| g 2887321
~
[Total marks /30
J
HOW We" did YOU dO? * with correct place value | 18 | 20
Colour the numbers of the — with zeros 7125
questions you got correct. +0orxby10,1000r1000 [ 4 {13
Long x and long + 26 | 27
+ with decimal remainders | 16 | 22 | 28
Fractions 1011211415
Percentages of amounts 9 123
Missing numbers 213|457 ]8|21)124(25
Brackets 1
+ 18
- 318|101 |15]1720]25
X 114168121314 ]23|24]27
+ 2151719 |MN|14|16]|19]21]22]|23|26]28
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